SNt
o, g af @R 1Iv)
TR

(Dispersion)

n [a¥iaN

iR ATE=a] TAGE UeHIG=T ®ald Ygodtd AT &Y F0d

qETed Aifed! TASId. AT YeHTodie 9d JeHl oM W 2id. T

T & U UH GRE AT gl fU= wWedT o, e WA

T T0& e TUR @ T899 TeHodl ST THU R JEmEd

o o (AN N

mfedt (e eavasd 3T9d. el fafdme eare=n Wdau A ol

STar 9 fafay JeeEt qod ®e! S, JeHTeHt U’ SffoT ‘|rder’ o

FOAMIET ST ST SO GG ‘3TUfeor’  (Dispersion) 37H
TEUTAT . STURRROTAE WA= 3TAN &% A g3 & Fol A, BIH
STfeRIOTI=AT AT fgta Sufet A 1% weorara.

STUFFOT=T AT (Definition of Dispersion)-

TEANTET  TeHeA &1 SUF  H0aTaddl  STIRoal Sd Aed
3R, TG el Heaqul el WSS 3.
T T3, 930 J=AT HA, “Onfeor Far fued § teHode  fafag

TS oo 1g 317e.”

[a

forfie ai=m Ad, “oTIfRTHe gHEl ARE JedNrgd ol dTS[Reis

M=t Ygedt T B1d.”



PR AT T, “SAT qACTIT Jafrds Temed fafeear oo fisar ety @
ATATST STIfRT0T 378 FRUTATd.

gaq ST &% Fi=m uwd, “oTufRor fRar fowdR wuSl FGo™ meEed

T foaed fRar fogtoe A yo1oT 2.
3T 32IT (Objects of Dispersion)-
TR q&is 32T TR -

. wreie favawfaar Aifed w0 -

o N

fRGeaT TSHIG=AT ATl Toaal ISdiegd Tevardral faee-r= 3T
FST STal. [O9eT 9uH 8 H9d WE sar $ UCHIoST W ' HoTen
qaferdd TerTes yfaftdfta F09 oTR. foueT FH THIoT ST AT
TeHTGHT Wfafel aar Age ST R favary waT 350, WG SR faEed

~

ST YHTOG 378G X SVTdedt A fgverauT TeUMR ATl Arer=Al

[a) oo

fIvaa-ra-t foered A URerT Siar a4,
2. foroaR o Aee SUos T -

fer=roT HTaT= SEQQI e AT 3UT Bl 2’«{91'](’5 ITAT. W

N N

feoT Wi3a YOO 3@ @ o 9907 Qo7 STevad 3Tqd. eRH

ATee 9T 2.
3. I Rt o1 fqwar=ht gor For -

3UFFROT © U U AT AT Fafyd fawaredis fafey gemmemn

T STAFT OTeh g TCHTGTURT HIOTA JeHTST T feR o1e € &

FLAT I



¥. GiReasa favduumardt 3uge -
foareT At TS FOHS! [eadaardl A=, qegay, JiaorE,

(o o

3Ted @9 Vot ARET ey fHeenme 3 d. aaed  faaedr

RAGIMET Feaqul M Mg 39 fogd Id. TResemeT  faae

Hecayul e IR Wed 379,
Y. Hmr forE 9 -
T goit=ar faf=T qeqear=n ¥ R o e

3T TET (Nature of Dispersion)-

TR T8T &I oF YR 3T -

¢ FARuer STufRor (Absolute Dispersion)-

N o

Sieel fafiTe weuTS=ar STRNIR STURRT AT WS Td dal T

o

ey STUfROT 3T UM, I1d UeHTO=T fadr i 717 I of=ad

FOGTT Id. 3T, ST, 3T, Slel ZaTer.

~

3TV STURRROT AT T fohar 31f¥e TeHo=a1 qo-addl ST 2is

[a N

IR ATel. 3a1. Us 94U ST Wedd d O 39 @R Kol 3180

T Oy 99 TgdiH T ST LT U ATer. STINS Qrier STqfenom=n
g9y hIdld.

3. WY 3TUfUT (Relative Dispersion)-

Segr fafyTe Temre=ar Uy STufRua <@i=ar "I 9 edrd fohar

AT STU fohar TR X WA Fedid deel ST HIIGT HIUE TR

~

3T TEUA. 3TN STURIUNST TR UTeh fohal fo=or oTen o7l Feurdrd.




qryey SYUfRTges fafgy WUd qod T eieeel aF fhar e yeAte
ToAT FaT A
YR Ao (Importance of Dispersion)-

qREHITET  TeHo= &A1 ST0F HUae U# Hecaqul Arad A

A STIROTST Aol T 3TE. TR 3TAM & Woie Hecaqo!

FIATGTS! HLOGTT AdT e TR Aeed T 2.

9 . HIUTATE! &1 STUfHIUTE HIT T YCHTG=AT 3TN 3TIIT 0TI

3T ITGFT 3MTE.

3. e yoA favouuT 9 qoATc® ST FRUATAS! TR 3T

0T 3T ST 3TTe.

3. =T faauudte fauHar S HuarErsl TR /1T vy 31Te.

¥, 3 onfoT TrmfsTs i faa= FoArTel SUfROmET WA 0T 3
3.

G 3TIF Tgec™ HLIHOT T FOITITST TR0 TN F0T IFIAE
3Te.

§. TIR I URATT § IRATTE WEq S0UAERIAr SqfRom=r o7
foT=aT Ufhaa W Ta LT,

0. AT THIFERT THET GASUATATS! STAR0T T GIaeTsie ATeay 27Te.

3TMEFT STUfRTT AU IIUTHTF (Properties of Good Measure of Dispersion)-

¢ . STY(HT THSUA TY F oI 7.

NN
9]

2. YYTHIO= TOHT a1 TSHIS=AT Ta = o= gIur sTavded 379d.

3. STURRYOT TESiad el I1d T8+ = T0HET oo STT7ET.

¥



(AN N o N

% . STAfRLOTT=T (= 379fT =amear Fidr 3ol uifesT.

Y. STURRIOTER TG e TR 2% 9.

§. TEHTOI® 3Tl 2ewl=aT JeHearHT STIfRIOTER 3Tarad IR 81 14,
STYFRTOT UHT FOGT=AT T5dl (Methods of Measuring Dipersion)-
9. foE (Range)

2. 3@ =qd+ (Inter Quartile Range)

3. a@’?f% fe=r#9 (Quartile Deviation)

¥. AT fa=ra9 (Mean Deviation)

u. JATT o= (Standard Deviation)

YAY fé=ra (Standard Deviation)-

THTT Il TohetaT 99 Y9 24%3 U HS (IS HSol.

o N

fI=R0T OISl T SSieR 9 SlUd TEdt TUH A1 Tadias Wies Sid.

FROT T Tgdld gl TES faFed Tgdldis v @ &5 faerom
A &S W9, a1 Tgd Hecrd dftted WUe me faeedd (Mean

Deviation) ST TR fF=®e o4 ®o o4 a9 O TGdd (Hg@s god

Fo o ARl T RE T fEead 1o Tenodie 99 JedieR TR

s A fava@edr TR 9o Tgdiier g9 FMel e, AW

foeromTer W vTee R (6) &1 e ST Shol STl

gAY fa=raaTe (Standard Deviation) 37 9@ SEd dd@l TEHTS=A]

T UHSOIU Sed o79ar. YA fomeq 3 foeom fuer A 2.

gHTT o=’ U (Co-efficient of Standard Deviation) 30T fa=ror oTeh



(Co-efficient of Variation) & =1 HUe TT Ted. T TSHTGTHE LIRIRED

Y FOGETST GHT fa=Ror Tk (Co-efficient of Standard Deviation)

NN

3T fg=—oT oIk (Co-efficient of Variation) AT 3TAM 2rdl. fG=mor o

~ .

(C. V.) a1 T AT 30N F&d eF fhal S UeHodie [geRen

qAAMTcHD ST hdl I,

T e T (Merits of Standard Deviation)-

9. THTT fOEeHT=t MO AT YeHTo e Tae g fa=m #oT S
TTes & AT JSHIG aMg Jahi Hiafeed .

2. AT oo s diiEdfed qae 3Taod &l Sl

3. TG Jeol fhal TeATedie dea=l a1 faao-et wRdT IR 2
e
¥, JATY fqeoame o faaR #oT S T8edes © faueq T g

g 3.
Y. JATT foaed § #ac G ATEATIRA Fee Sid caes o R 379,

&. YA foaoasT fq=ror o A el Iar. daed e fhar I

AT qoATCHE 3Tedg 0T I 2hd.

. GgFT fq=a-T M0, I ST (T Emn, g Ay gerdt Mo

FOATST AT = oTcdd 3ugFd 3.

T oo (Demerits of Standard Deviation)-

2. U faareare T faSTfvTdar=T STy AT SAfda-re &idT Id.

2. AT fa=aeHre AT FHograret fafay nfordiy gfshar R arerer s
319,



[N N

3. Y fo=reard Afd R Tl 3 HAecd G STd T ArgSadio

TSl FH Aed oo S, e av dediT cmeR fordd gk 2.

Y faeea T (Calculation of Standard Deviation)-

gHg  foeroAETdl (Standard Deviation) 90T 6 (Sigma) fohel S.D. &l
qienfae == STAN T Sl

37, 3afFqF TS (Individual Series)-

Fafas TeHod S.D. I HEUAHEId WS oF TEdi= 3Taed

T S

I- 799 Tgdt (Direct Method)-

Ty Tgdid S.D. FIeUATHRAT GAS Tdrem TS Hydl.

¢ . e TeHTe T Mean hIar.

3. A Mean o Wod® TSI 37a 9T fIaT dx (From Mean) 319

[a) [a

/U, dx & WEET 90 &9, faer Tdx 379 WU,

3. JEIo @I Mol Y& dx a1 af (Square) foer. &1 @RS dx?

37T 9 &

[a

¥. dx’ T T ST T die ais] . dGior Sdx’ 3Ty A9 &,

4. S.D. FIEUATHITT Gole TAET TR 6.

SD.or 6= |/ 2dx

n

§. Mol T&=T e Tusl S.D. FIal.




II- Y TEdl (Short-Cut Method)-

T TEdl 7 S.D. FITATATS WHG TS TTBd el

o

o feoean veamer fog =i

2. Assumed Mean 53 dx ¥ g9 Plel.

[a VN o

3. dx =T WEET 9O R, ST Sdx 319 RO,

¥, @S A FATed a4

/
\ /N A2 £

SD.or6= |/=8X" .’ > fdx

1

[}

©

1
i

n AN |

s

7Y fFed (S.D.) § STUfRUNe fRug WY oTe. oA wUAErdl add
faero= |Ae 9T FOGTEET WHT e U (Co-efficient of S.D.) ATfUT
G T0Teh

(Co-efficient of Variation) T hledTd.

. THIT o= ik (Co-efficient of S.D.)-

T fea=ro T0Teh MY FIRUYTRIAT GBS SELEI AT HLA.

S.D.
a

Co-efficient of S.D. =

S.D. - Stands for Standard Deriation
a - Stands for Mean

R. fo=& % (Co-efficient of Variation C.V.)-

S.D.
CV= x 100

OR



C.V.= Co-efficient of S.D. x 100

fered oI (C.V.) 7T T&Ht T Tamwnd (%) evifaedr S,

3dl. 2. CI qcll'f\‘l TATT faae Tl
(Find out the Standerd Deviation of the following data)

FIFAE (SrNo) 1 2 3 4 5 6 7 8 9 10
TS (Wages) 1516 18 20 22 23 25 26 27 28

Q. T Tgdl (Direct Methods)-

STIFHIH TR AR Ay fame | e ot
(Sr. No.) (Wages) Deriation from Mean Square of Deviation
(m) (dx) dx
1 15 -7 49
2 16 -6 36
3 18 -4 16
4 20 -2
5 22 0
6 23 +1 1
7 25 +3 9
8 26 +4 16
9 27 +5 25
10 28 +6 36
n=10 | TeHcATE oS foerear=ar =i
>m=220 ST 2dx’=192
q= xm _ 220 _,,
n 10



—
VR AL

Standard Deviation or 6 = |/ =82

<
~

6- AT foEed =4.382
(Standard Deviation) (Sigma)

dx- HATR AT e
(Deviation from Mean)

Dx>- o= ai
(Square of Deviation)
n- TRl HEr
(Number of item)
R. Y Txdl (Short-Cut Method)-
CIEELIED LSy Hieqd AT fereresmen o
(Sr.No.) (Wages) ICERE] (Square of
(m) L. o o
(Deriation from Deviation)
Assumed Areages) dx*
(dx) x= 20
1 15 -5 25
2 16 -4 16
3 18 -2 4
4 20 0 0
5 22 +2 4
6 23 +3 9
7 25 +5 25
8 26 +6 36
9 27 +7 49
10 28 +8 64

Qo




n=10

2dx=20

Ydx*=232

gp = /Zdx  (Rx )’
n n
=\ 232y
TR
=\ /232-Qy
=/ 232-¢4)
-/ 192
— 4382

n =YaE &1 (Numebr of item)

dx - Hfcad AU fa=aT (Deviation from assumed mean)

dx? - fe=@a=T @ (Square of Deviation)

X

- Ffcqd AT

1§




3}, . TOIS THERIEE JAT fTTaar ST 4.

(Calculate the Standard Deviation from the following data)

fi<en® (Index No.)- 129 140 130 130 127 137 142 129 130 131 120 127

S RELIE fcena Hiqd AAGS foaoT | e o
(Sr.No.) (Index No.) (Deriation from Assumed Mean) | (Square of Deviation)
(m) (dx) X= (130) dx?
1 129 -1 1
2 140 +10 100
3 130 0
4 130 0
5 127 3
6 137 +7 49
7 142 +12 144
8 129 +1 1
9 130 0 0
10 131 +1 1
11 120 -10 100
12 127 3 9
n=12 >m=1572 >dx=12 >dx*=414

R




By Short out Method-

/ - T A, 2
o (VA N B £ LAaX =
QN ND 44— |/ &UA L )
D.Ls. \JIN U v — 7
! n n -
/ o o)
\ S a4 oa 17 <
= \/ 414 AR Y
\/ — — -1
’ 1" 17
i1z R S-SR
A
VS s e s P
= \/ AdAHy-11)
\/ =i N~/
1/
= \ / ~ i =
\ / A4 N2
\_::_/ =t Taul x
v
/
/
.\ Aaa
= \/ 22D
\/
= S 70
ST

3al. 3.9HMY fereeAT T .

(Calculate the Standard Deviation)

FIHFAS (Sr.No.)- 1 2 3 4 5 6 7 8 9 10
3THR (Size)- 92 105 120 150 200 98 90 45 60 40
Yy Tgdl (Direct Method)-
ITTHAIR | TSN AR | FHIGR AT fo=re e ot
(Sr.No.) (Size of item) (Deviation from Mean) (Square of Deviation)
(m) (dx) x=100 dx’
1 92 -8 64
2 105 +5 25
3 120 +20 400
4 150 +50 2500
5 200 +100 10,000
6 98 2 4

23




90 -10 100
45 -55 3025
60 40 1600
10 40 -60 3600
n=10 >m=1000 >dx=0 Ydx’=21318
AT (Miean)- YA fa=rST (Standard Deviation)-
@ =7 SD.OR 6= |/2dx’
n
=\/21318
1NN ] 0
— 11UV
= 2131.8
6 = 46.17

3 Tgdl (Short-Cut Method)-

YHATD | TSN FHR | Heqd FeANT fomed | oo o
(Sr.No.) (Size of item) (Deriation from Assumed Mean) | (Square of Deviation)
(m) (dx) 98 dx’

1 92 -6 36

2 105 7 49

3 120 22 484

4 150 52 2704

5 200 102 10404

6 98 0 0

7 90 8 64

8 45 -53 2809

9 60 -38 1444

10 40 -58 3364

2%



n=10 n=1000

2dx=20

>dx°=21358

AT fo=rae (Standard Deviation)-

/ S F 7
\ / ~ Ve Wa X% N
0 ZdXL i ~UA \~
S.D.OR6= o)
n n
_ Azo ., 0 2
\ Y L0 P 1N
=/ 21358 ¢ <Y\
Ci AN II:I J
/
Y
= 2135.8-(2)
- /
/ 2135.8-4
= \/ 2131.8
y

< S.D. = 46.17

Y




3. ¥ - T fo=ea Te 3 &Y TSdigi S0 .
(Calculate Standard Deviation by direct and Short cut Method)
m- 83 85 &7 84 80 90 86 82 78 45

Y Tgdl (Direct Method)-

JHR AR AR e foreremar &t
(Size) (Deviation from Mean) (Square of Deviation)
(m) (dx) x=80 (dx?
83 3 9
85 5 25
87 7 49
84 4 16
80 0 0
90 10 100
86 6 36
82 2 4
78 -2 4
45 -35 1225
>m=800 Tdx=0 Tdx*=1468
n=10
HE (Mean)-
>m 800
a= n = 10 = 80

28



* S.D.

= 12.11

@Y T&dt (Short-Cut Method)-

JMHR FHfeqq wreATA =@ (Deriation T o
(Size) from Assumed Mean) (Square of Deviation)
(m) (dx) 83 (dx?

83 0 0

85 +2 4

87 +4 16

84 +1

80 -3 9

90 +7 49

86 +3 9

82 -1 1

78 -5 25

45 -38 1444
n=10 >dx=30 Ydx*=1558

2\




7Y fo=e T (S.D.)-

S.D.OR 6= /2 (=7 )7
n n -
o V10

< S.D. = 1211

3. 4 - GoIe TeHTGH THM b o 9 o= T @i,

(Find out the Co-efficient of Standard Deviation and Co-efficient of
Variation for the Following Series)

fmeia@-A B ¢ D E F G H I J K L
(Name of Student)
TOT (Marks)- 82 88 90 80 8 72 78 80 70 72 90 32

A9 - T ST OF F R0 O Fevararet oMt At St Ty
CEREREIRERIUGE

foemreatl a9 LUl Fieqq AU | foEeaTEr i
(Name of (Marks) fad=®T Deriation Square of
Student) (m) from Assumed Deviation (dx”

Mean (dx) 80
A 82 +2 4
B 88 +8 64

<




C 920 +10 100
D 80 0 0
E {2 +2 4
F 72 -8 64
G 78 -2 4
7] 80 0 0
I 70 -10 100
J 72 -8 64
K 90 +10 100
T Y 48 2304

n=12 Tdx=- 44 Tdx*=2808

TITOIT /RN N
"= lvican -

2R

gaTq fa=re (Standard Deviation)-

Al

S.D.ORG= /X (=€

n I

1 N
ax \' “
J

=\ /2808 _ ( 44 ¥

= |/ 234- (3.67)

=/ 234-1346

=/ 22054

S S.D.OR6= 1485




T fereeT 0% S.D.
(Co-efficient of S.D.)- =——
a

14.84

76.33
= 0.19

[ERIURRIUED

(Co-efficient of Variation)-

S.D.

CV.= x 100

a

14.84
= x 100
76.33

S.CV.=1945

3. & -2l TeHIGIE YA foEe g fo=RoT oTee=ar JerA goT 4.

Mot T F) 10 12 14 10 15 16 12 10 12 10
Price of Wheat (Rs.)-
SR fmad (%) 6 9 12 13 16 18 20 17 10 7

Price of Jawar (Rs.)-

T8 (Wheat) S (Jawar)
fepma
(Price) x=12 ) fFaa x=12 )
(m) dx dx (Price) dx dx
10 -2 4 6 -6 36
12 0 0 9 -3 9

Q0




14 +2 4 12 0 0
10 2 13 1 1
15 +3 16 4 16
16 +4 16 18 6 36
12 0 0 20 8 64
10 2 4 17 5 25
12 0 0 10 2 4
10 2 4 7 5 25
n=10 | Xdx= Ydx* =45 n=10 |Zdx=8| Zdx'=216
e (Mean)- At (Mean)-
>dx Tdx
a= Xt— a= X+ 0
=12+ 1 =12+ _8
10 10
=12+ .1 ~ 12+ .8
a=12.1 .a =128

2




TATY oo ST YHIY faroHTe 3T

sp. - | /xde (R sp. = \/xde (2% )
n n N
—\/ 45 IRy =/ 216 (8 Y
10 ( 10 ) 10 (10 /
_ ‘-,,,_,f‘"4.5_(0.1)2 ~ 1\ /21.6-(8)
=/ 45-0.1 =/ 21.6-0.64
=/ 449 /2096
% S.D.OR 6= 2.12 % S.D.OR 6= 4.57
EEURILED ERLURIUED
CV. = SD. 100 cy. =D
a a
2.12 4.57
= XlOO = X]OO
121 128

S GV =17352 S C V. =35.70

TR fq=RoT Ui qoATcHaRgse FHT 3% U Sari=ar fhmeider
Teer=A faRdt e1fie TR oTe.

R



Gfed TSHTST (Discrete Series)-

Gfed TeHed S.D. YA FETARIAT WHIG aF TS Aqod Hol

ST
I- 7O T5dl (Direct Method)-
{. [Coedl eHdd FHIAL AT (mean) ®lel. JMISI 87— AT d90 4.

. 3OO mean X’ 3T “dx’ Fﬁ%ﬁ FIel.

. Q&S TN f 3T <dx’ =1 UMHR . AT “fdx’ 3T 20T
- “fdx’ Tt TS w0 fAeT Tfdx T TR,

. IeIe WA fdx x dx & fdx® e

fdx* = oS T fqor Tfdx e

. $.D. FEIME GO AN AT 6.

G M £ KX «ww o

" n

II- Sl Tgdt (Short - Cut Method)-
2. plcdd H (Assumed mean)'am dx MY lal.
R. Xfdx VYA Flel.

3. fdx” T e,

¥. S.D. FRTIEE! WAG AT FATod Hll.

S.D.or6= /2 - (2dxy”

fav - Gfed TereT T@g TEdH S.D. FevaTial Bl TSdH S.D. wEvl
qrY ST

3. 9 — TG Gfsd TeHoas Tad d & TSdid YA faaed #el.

T SRR (Size)- 5 15 25 35 45 55

qEdr (Frequency)- 3 7 9 113 7

Q3



T Tgdt (Direct Method)-

TS AR | FRARAT AT AT Fdx x dx
(Size) (Frequency) ICERE] F x dx
(Deviation from mean 5
(m-x) (fdx*)
(m) (H mf (dx)x=34 | (fdx)
5 3 15 -29 -87 2523
15 7 105 -19 -133 2527
25 9 225 -9 -81 729
35 11 385 +1 +11 11
45 13 585 +11 +143 1573
55 7 385 +21 +147 3087
n=50 >mf = >fdx =0 | Zfdx’=
1700 10450
>mf
a s
n SD.or6= |/Zfdx’
n
1700 =\ /10450
B 50
50
a =34 B 209
= 14.46

¥



FT5ar (Short- Cut Method)-

TSN AR | Hieyd AT FLERT
(Size) CERE] (Frequency) Fxdx Fdx x dx
(Deviation from Assumed
mean)
(m) (dx) 0 (fdx) (fdx?)
5 30 3 -90 2700
15 20 7 -140 2800
25 -10 9 -90 900
35 0 11 0 0
45 +10 13 +130 1300
55 +20 7 +140 2800
n= 50 Y fdx Yfdx*=
=-50 10500
Sp - Zfd§2 B (Efdx 2
" n
=\/ 10500 )2
=\ /210-(-1y
=/ 210-1
=/ 209
" S.D.= 14.46

Y




3. ¢ - TOIG TeAeH AT foaed § [G=ror o T &9,

(Calculate S.D. and Co-efficient of Variation for the following series)

a3 - 10 20 30 40 50 60 70 80
(Age)? o
qlad=l &1 -3 5 10 11 14 16 15 15
(No. of Persons)-
9| Head AT et gE& Fdx x dx
(Age) ICEEE (No. of Fxdx
(Deviation from Assumed P ersons)
mean)
(m) (dx) x =40 i=10 (f) (fdx) (fdx?)
10 -30 -3 3 -9 27
20 -20 -2 5 -10 20
30 -10 -1 10 -10 10
40 0 0 11 0 0
50 +10 +1 14 14 14
60 +20 +2 16 32 64
70 +30 +3 15 45 135
80 +40 +4 15 60 240
n= 89 fdx = | Zfdx’=
122 510

Q&




. X
L2 £2rdxy 4
SD.or6 = \/xfdx* {
n n ’
/ X
\ Y 179 2
—_— 51" _il A o \l
X 10
— 573 - (1 27V
e _\\1 J 1)
v 10
Zx 11U

= 1.96 X 10

S.6 =196

HE (Mean)-

Yfdx
a=X+— X i
n

122

=40 + X 10

89

=40+ 137X 10

=40+ 13.70

“ a=53.70

R\



S.D.
C.V.= —— X 100
d
19.6
53.70
o CV. = 36.49

3. § - GGG Hifed=aT HER JAY [G=e- o7 fa=mor ore e

(Calculate Standard Deviation and Co-efficient of Variation from the

following data)
X 20 40 60 80 100 120 140 160

CIRC By 13 27 35 38 32 25 28 9

ST | Shfeqd AT FRARAT
X faa?ﬂ' Frequency F x dx Fdx x dx
(Deviation from Assumed
mean)

(m) (dx)x=80 |i=20 ) (fdx) (fdx’)
20 -60 -3 13 -39 117
40 -40 -2 27 -54 108
60 -20 -1 35 -35 35
80 0 0 38 0 0
100 +20 +1 32 +32 32
120 +40 +2 25 +50 100
140 +60 +3 28 +84 252
160 +80 +4 9 +36 144

n= 207 Yfdx = | Xfdx’= 788
74

QL




2fdx
a=Xx-+ X1
=80+ X 20
7
o\

a=R87.15
20T T s N
1 MINTI \'_*'l-l' \\_/ Y ’_
SD
CV. = —— X 100
a
38.4
= — X100
87.15
S C V.= 44.06

é
wrs 8 X1
_\/aiee (2fx)
S.D dx* (7))
n 81
< N
~ P4 VAV 4
— NG
- 788 i i \\
207 2077
S x 20
L
"o o2
= 3.81-(0.36)
v N
Pa v

3. L0 - TAG VA=A fhadieaed [q==or 0T (C.V.) Flal.

(From the Prices of Share find out Co-efficient of Variation)
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